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dim s as string

s = “AGGCTGCTATCCTATCGAA”
s = “moji retu ha benri”
s = “0336042000”
s="“

0001 1 0001 0001

cint() cdbl()

i=0 1 2 i ==
§=0" & “1" & “2" s == “012"
cint(s)==12  cdbl(s) == 12.0



s =*"0336042000”

sigai = left(s, 2) -
kyoku = mid(s, 3, 4) ~ 3 4
matu = right(s, 4) - 4
1 2
10 StrComp()
if StrConp(s, t) == 0 then s t
if StrConp(s, “ ”) <> 0 then - s
)
1
10><10 100
Agt_Init{
my.X = my.id mod 10 ~ id=10 © 9 10
my.Y = my.id 10 ~ id=10 © 9 10
(JAVA  KK-MAS ¥

my.cultura = cstr(cint(rnd()*10)) & cstr(cint(rnd()*10)) & cstr(cint(rnd()*10))
T 0 10
000 999



Agt_Step{

dim mawari as agtset
dim kazu as integer
dim aite as agt

dim r as double

makeallagtsetaroundown(mawari, 1, false) — 1
kazu = countagtset(mawari) -
aite = getagt(mawari, cint(kazu*rnd())) - aite
if StrComp(my.cultura, aite.cultura) <> 0 then - aite
r = rnd()*3 <1 3
if r <1 then <1

my.cultura = mid(aite.cultura, 1, 1) & mid(my.cultura, 2, 1) & mid(my.cultura, 3, 1)
T1 aite 1
elseif r <2 then - 2
my.cultura = mid(my.cultura, 1, 1) & mid(aite.cultura, 2, 1) & mid(my.cultura, 3, 1)
T 2
else - (2 3 )
my.cultura = mid(my.cultura, 1, 1) & mid(my.cultura, 2, 1) & mid(aite.cultura, 3, 1)
T 3
end if
end if

IIRGB() 1 =25 2 %25

my.iro = RGB(cint(mid(my.cultura, 1, 1))*25, cint(mid(my.cultura, 2, 1))*25, cint(mid(my.cultura, 3,
1))*25)
}
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